AP Calculus BC Mr. Shubleka Quiz: 50

Present neatly er—separatepaper. Justify for full credit. No Calculators.

Name Ke“] / b S " Score A (10 minutes) x1
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1)
Use Buler’s Method to approximate f(1)with step size Av=0.5if y= f(x)is a solution
and the initial condition is (0, 1).
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Hlustrate your solution with a graph.
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Solve the following differential equation. Find the specific solution by using the initial

condition (i 3 3).
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AP Calculus BC Mr. Shubleka Quiz: 50

Present neatly en-separatepaper. Justify for full credit, No Calculators.

Name ‘/( E\’/ f {) S - Score _______ F (10 minutes) x1
1)

Describe the differential equation in as much detail as possible.
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What happens to the population in the long run if P,=7507 What if P,=1300?
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Use Huler’s Method to approximate /(1) with step size Av=0.5if y = f(x)is a solution

and the initial condition is (0, 1).
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Mustrate your solution with a graph.
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